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PARF-] : MENTAL ABILITY TEST
(For Student of Class VIII)

Time : 90 Minutes © Max. Marks - 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open
the Question Booklet.

1.

2

B.

Answrs are to be given on the same OMR Answer
Sheet

There are 90 questions in this booklet. All are
compulsory,

Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark '~ or “=" in the OMR sheet.

Since the time allotted for this Question Maper is very
limited you should make the best use of it by not
spending too much time on any one question.

I you do not know the answer to any question, do not
waste Hme on it and pass on o the next one, IF time
permits, you can comi back to the questions, which vou
have left in the first instance and atbempt them.

Rough work can be done anywhere in the Cuestion
Booklet but not in the OMR Sheet/ loose paper.

Each correct answer will be awarded one mark.

PMlease return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet

Quote the seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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MENTAL ABILITY TEST/wengdlpen Csiey

Direction (Q. No. 1 to 11) :
In each series, the alphanumericals are following
certain rule or pattern.

Find the next term for the following series.

1. 3,55.19.7.41.59

——

1y 71 (2 6l
(3 79 (4) 69
2. 125, 80, 45, 20, 5, :
1 1 {2y 0O
@3 -5 4) -10

3. 58,1528, 5,102,

(1) 204 (2 199
(3) 195 (4) 189
4 223,456,781, 10, ;
1y 12 (2 9
(3 13 (4) 14
5. 3 7 13,7213, .
(1) 34 (2) 37
(3) 42 (4) 43
6. A B CE H M :
() S (2 R
M U 4 V
7. BAT, DCV, FEX, ;
(1) HGI (2) HGZ
(3) HI (4) HGY

anflapenp (sl a1ed 1 (pgeo 11 aueni) :
Spaargd Qpm isefi ereTE T (IpSE SHa
e GHGL il senolBen iy auflensli-
u@BEsOULC[Rerengl.

Seneumip Gprit awflasds OEH QuHD
z gulienuis semLfliueyb.
1. 3,5519.7.41.9, _

e

@ n (2) 1
@ 79 (4) 69
2. 125,80,45 20,5 .
m 1 @ o
(3) =5 @ =10
3. §15285,102 .
(1) 204 O 199
(3) 195 (4) 189

i 2.2,%45678 11,10 ]

(1) 12 (2) 9

@ 13 4 14
5. 3,7.13m,31,

(1} 34 @ 37

(3) 42 @ 43

6. A BCEHM

(1 s 2 R
@ U 4 V
7. BAT, DCV, FEX, :
(1) HGI @ HG
(3 HI (4) HGY
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B. 12,950, - B
(1) -5 (2)
() -6 4)
q, C4X, F9U, N16R,
1) K25P (2)
(3 L250 (4)

10. ZLXJLV.HTF
(1) A i2)
(3 C (4)

11.  AB 2, EF 30, I] 90, OP 240,

(1) TU 720 (2)
(3) VW 368 (4)

Direction (Q. No. 12 to 14) :

Find the missing number in the following :

12,

4 11
[gzra
2\?64/7
IS/

L25P
L27P

R
I

UV 480
UV 462

(1) 125 (2) 216
(3) 1000 {4) 343
13,
7 15 20
JEJ Gl
7] m 7
(1 11 (2) 12

(3) 13 (4)

15

8. 12, 9,50 :
(1) -5 2) -4

-6 (4) -8
O

9. C4X, FoU, 116R, .
(1) K25P (2) L25F

& Lso {4) L27P
10. ZLX)LV.HTF____
1) A D r
(3 C (4) I

11. AB2,EF30,1]90,0P240,
() TU720 2}
(3) VW 368 @ uvis

myﬂ@mp{sﬁnmns#ruup;ﬁumm:

Baumaaanliie BRULL aramré
sardlweayb.

12,
11
(%
B S 7
X/

(1 ]
—

(1) 125 ® 26
(3) 1000 4) 343
13.
7 15 20
E_][ G[td]
[8] 0] [7]
@ n @) 12
3 13 @ 15
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92010201020
(2 0

(1) -46

3 -3 (4) 26

Direction (Q. No. 15 to 17) :

Find out the wrong term in the following series.

15. (1) Fry (2) Boil
(3) Peel (4) Bake

16. (1) Zebra (2) Horse
(3) Tiger (4) Lion

17. (1) Tennis (2) Soccer
(3) Billiards (4) Cricket

Direction (Q. No. 18 and 19) :

There is some relationship between two given
words/ letter/ numbers before “ : : * symbol. Find
the other one from the given alternatives having
the similar relationship.

18. 8:63::12: ;
(1) 168 2) 121
(3) 143 (4) 132
19. Shout : Whisper : : Strike :
(1) Anger (2) Kick
(3) Kill (4) Touch

[CODE[vVII] 1] 24 ]

1) -46 B o

(3 -32 4) 26

aufigpenm (eflesm aremm 15 (@60 17 suemy) |
Geraumb Ggrer ewfeosde gsaupren
e muenud samflweyb.

15. (1) Fry (2) Boil
@ Peel (4) Bake

16. (1) Zebra @' Horse
(3) Tiger (4) Lion

17. (1) Tennis (2) Soccer
@) Biltiards (4) Cricket

auflapeny (ellen ereter 18 wHED 19) :

“1a " eTemD @!ﬂﬁl_kq.mg (Lpen B_emar (@) raim (b
artgams | spds | aansEnsda Cu
gCaab gm Gsriiy eaag. GE
Aerimer sl uld GarBasouL
Qsfesalldimbs wh@praaps Csib-

QB aseyb.
18. B:83::12: .
(1) 168 (2) 121
G 143 (4) 132
19. Shout : Whisper : : Strike :
(1} Anger (2) Kick
(3) Kil @ Touch
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Direction (). No. 20 to 24) :
The diagrams show some relationship among the
three items given. From the given diagrams A, B,
C. D and E, select the correct diagram that
corresponds to each question.

@0 T €9

A B C

20. Plants, Animals, Men
(1) C (2) B
(3) A 4) D
21. Mothers, Doctors, Women
(1) D (2) A
(@ ¢ (4) B
22. Minutes, Days, Months
(1) E (2) D
(3) B 4) A
23. Star, Sun, Moon
(1) A (2) B
2 C (4)
24. Whales, Fish, Crocodiles
1) A @ B
(3 E 4 D

auflppenm (eflenn ererer 20 (a6 24 suent) :
Ger@éslulfdrer LfusdT geablaurenmb
Aperp emnUUsEREEs el Cu o dren
Agrifrenus sri@éaper. gaQanm
chlenmefip@d Cgmiryew sflurer L geog
Qar@ésuu_[Beter A, B, C, D wpgid
E uLiusefldlmba CsrplsBésab.

@0 % €9

A B

D E
20. Plants, Animals, Men
(1) C (2) B
O a (4) D
21. Mothers, Doctors, Women
O o @ A
(3) C 4 B
22. Minutes, Days, Months
E 2) D
3) B 4) A
23. Star, Sun, Moon
D a (2) B
3y C 4 D
24. Whales, Fish, Crocodiles
1 A ® s
(3) E 4 D



25.

27,

28.

29.

30.

If 2AB+ AB1 = B18, then A=________ ,
B= ;
(1) 47 2)

7. 4
A 67 ) 7.6
If PEN =32, CHALK =30, then DESK =
1) 34 (2) 35
(3) 36 (4) 39

If EXAMINATION = 24681365173, then
TIME=____.
(1) 5182 (2)

5812

(3) 8521 (4) 6821
OREE: o A U
AR AT A

The number of parallelograms in the given
figure is :

() 12 (2) 20

(3) 29 (4) 30

The minimum number of straight lines
required to make the given figure is :

(1) 15 (2) 13

(3) 12 4) 14

Arrange the following words in a meaningful
sequendce.

(A) Consultation (B) [llness
(C) Doctor (¥ Treatment
(E) Recovery

(1) (B), (C), (A). (D). (E)
(2) (C) (B). (A). (D). (E)
(3)  (B) (C), (E)., (D). (A)
(4)  (A) (C), (D). (B). (E)

23

26.

27.

28.

29.

30.

[CODEJvi|1]24]

2AB+ AB1=B18 eraflay, A=__
B=

4,7 2y 7.4
3 &7 (4) 7.6

PEN =32, CHALK =30 sraflés, DESK =

1) 34 @

(3) 36 (4) 39
EXAMINATION = 24681365173  eraflep,
TIME = ;
5182 (2)

5812

(3) 8521 (4) 6821
Lt ol

y T

Qer@ssuulfarar UGS odrer
Bleremtariusatien eraimantsans :
m 12 (3 20

(3) 29 @ 30
Qar@aslulL ULS®ME HADDES
CgamaluBd Goppguces Cprs-
Gan(paaflen sramenilians :

1 15 @ 13

(3) 12 (4) 14
Hemaupln auriengSaneT HiMGsperer
QBTLYTE WDTDHIS.

(A) Consultation (B) [lness
(C) Doctor (¥} Treatment
Eecovery

E)

@ (B). (C), (A), (D), (B)
@ (C). (B) (A), (D), )
@) (B) (©) E) @) (A)
() (A © D) B)
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31. Choose the correct alphabetical order of the

given words,

General
Gesture
(A) (B) (C), (D)
(A). (B). (I, (€)
(B). (A), (C). (D)
(D), (A). (B). (C)

(A)
(<)
(1)
12}
(3)
(4)

(B) Gentle
(D) Genuine

If the letters of the word ARTICULATES can
be used as many times as one wants to use,
then which one of the following four words
cannot be formed ?

32.

ARTICLE
ELECTRIC

LATER
COURTS

(1)
(3)

(<)
(4)

33. Read the following clues carefully and find

the correct answer :
Clue : i)
(i)

I am a 4 digit number.

4" digit is odd and is less
than 3.

(iii) 1% digit is 5 more than the
4™ digit

274 digit is even prime
number

(iv)

(v) Sum of first 3 digits is equal

to 12,

6421
6241

0242
6124

(1}
3)

(2)
(4)

31. GasrBsstul (Herer Spidfla aurideng-

saflen  sfluren &7 afosowus
CaiptlsHésab,
(A) General

(C) Gesture

(1) (A). (B} (©), (D)
O .6
(3)  (B). (A) (C) (D)
(4) (D). (A). (B). (C)

(B) Gentle
(D} Genuine

32. ARTICULATES erengy eunffeng-

Wguemer eT(pEFEa@aT THSMmen (P
CeusimBuomenmgib LaeuBES Geaumb
prerE eunithangsatld aThs cuntgangeni
e meunés Eluang ?

(1) ARTICLE (2) LATER

(3) ELECTRIC @ COURTS

dereumd @hluysaer saanonrsl
Uigss sfluren elenenwg Gers.
@0y @ (i) pren gum 4 Beds ere.
() prévsraug @Eadsomens
ghepUueL WHmD
apeamen el @enpay.
sreugy @less cramananT
6Bl 5 SaBSamEHD.
Glrem_raug Goss-
wrerg @yl e
LIET T,
(pEe fpenp &eEsh -
soflen @B 12 -&@é
FLOLDTEWD.
(2)
(4)

33,

i)

(iv)

6421
b4l

6242
6124

(1)



34.

35.

If in a certain code language :
1729 =all problems are serious,
4367 = men have many problems,
1385 = some men are happy and

B069 = some have serious ailments,
then the code for “Serious men” is

93 23

(1)
(3)

(2)

13 98

(4}

If KAVERI is coded as VBKISE, THANEKS as

AITSLN, then SPIDER is coded as
(1) ISPRDE (2) IQTRFE
(3)  IQ5RFD (4) IPSRED

In a row of boys, A is 10% from the left and B
is 9 from the right. If they interchange their
positions, A becomes 15t from the left, then
how many boys are there in the row ?

1) 23 2 %N

(3) 27 (4) 28

34.

36.

[CODE[vII] 1] 24 |

@ GHGLE Guomfié :
1729 =all problems are serious,

4367 =men have many problems,
1385 = some men are happy and

8069 =some have serious ailments erans
GEhlssUUC LT,

“Serious men” eTeMLISDETeN FHIGH

@93

(# 13,

(2) 23

(4) 98

KAVERI eremueng VBKISE eremaywbd,
THANKS erémueng AITSLN sremay

@DssTé SPIDER sreémugdn GHSH :
(1) ISPRDE IQTRFE

@ IQSRFD IPSRED

(2)
(4)

flpeuisear eater g aflaslla A
eremueu @)L WllmEs 10 -aug Blugflgin
whHon B eranual euadimbs 9 -sug
G sHand warerent. Fmmeumid Shiser
Egers ereanmEarmer wrphfls
Garem_dld A erevueuf @ Bdmbs
15 -eugy Busgda ecerarmi ereafld,
auflensuller eTggenan Spyeulrsar o amamemt ?

@23

(3)

2 M

27 28

(4)
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Diirection (Q. No. 37 and 38) :

Study the following information carefully and
answer the questions.

iy Six friends A, B, C, D, E and F are sitting at
equal distance from each other around a
circular table.

A is sitting two places right of B who is exactly
opposite to C,

(i) Cison the immediate left of D who is exactly

opposibe to E.

(iv) F is also sitting at the table.

37. The person sitting left of A is :
(1) B 2 E
(3) F 4 C
38. Clockwise order of sitting persons from D
15
(1) DCAEBF (2) DFBEAC
(3) DCEBFA (4) DAFBEC
39. It was Sunday on Jan 1, 2006. What was the

day of the week on Jan 1, 2010 ?

(1)
(2)
(3)
()

Thursday
Saturday
Friday

Wednesday

10

auflapenm (ellemn evevor 37 whHEuw 38) :
8Cyp Qar@ésiuulBerer Ssadsaen

& G GTLD T & L) L by 5 5 chlenn&x@naE

ehlepLiwel&sayb,

() ABCDEuwbpbF 8 Sm memurser
L augeld s Gareneelie
S LD ICTET ST

) A eemuri B -6 @OUUSSLTS

Eiram_mbl_gdé swipgererri. Cs
Ceréflé B eremunt C -&@ Cor erdlrra
S0 hEIETaT T,
(i) Cerenunmt D -&@ BLUUESLISE SEuaTH
Qem_ihg edrermr. Cugnb E -4 Cpir
srdlpms D wamermi,
(iv)
7.

F eremuauqmid sul L Sdld) S|omhbgeranm.

A - @lLlussn siorbdmouea :

(1) B @ =
(3) F [ C
3. D -& @mops sgaryr FHeosda
SHihgeraeursation cufleng :
@ DCAEBF (2) DFBEAC
(3) DCEBFA (4) DAFBEC

39. gmemeufl 1, 2006 Syengy EhmullHmEslpenn
erafled, gemaufl 1, 2010 swehm orenen
£lipenwn ?

(1) eblwumpsélpenn
(2) saflzdpene

@) Qadratsdipan
(4) ugendlpenin



41.

43,

If the second and fourth Saturday and all
Sundays are holidays in a 30 days month
beginning on Saturday, then how many
working days are there in that month ?

(1) 20 v
(3) 23 (4) 22
In a group of cows and hens, if the number
of legs are 14 more than twice the number of
heads, then the number of cows are

1} 3 (2) &

3 7 (4) 10

If the digits of 237965320184 are rearranged
in ascending order, then how many digits will
remain in the same position ?

4
2

(1) (2) 3

(3) 4 1

In an examination, a student scores 2 marks
for each correct answer and loses 1 mark for
each wrong answer. If he attempts all the 50
questions and scores 55 marks, then the
number of questions he attempts incorrectly,
IS

(1) 20 (2) 15
(3 25 (4) 28
Find the missing letters,

abc __abc __ bbca _ ¢ __ aaabc
(1) abca (2) aabc
(3) abbc (4) abece

11

41.

41,

43.

[CODE [VII[ 1] 24 |

sefl&dl pamwanwus Ceram® CgmomiEd
30 prisdr Csrare gm wrsgdd
Erem_reug, mransreug Fafl&dlpenn
wHpb Soeis Erupnsdpew
s@sd ell@apenp erafled, Sqbiomssdla
eTgenen Ceuemapr e o draten ?

(1) 20 () 21

@ 2 (4) 22

usisear wHph Camfisda cdrer gm
@(pelild srdsafien eramanilsamsLrang,

gevausation eraimantissnsiilen G 0L fiens

dl. 14 sdasd el uvsssafan
sramenilEans
(1) 5 2) 6

(4) 10

7
%‘355321}134 T i LD cramerfley & drem
gauleamnm Basssosyd gnafias
wleh erupgnCunrg Tggenen Fasstise
BamBio =CGs BLsfléd enwwyd 7
0 4 @) 3

@3 2 @1

s Caralld, @ wrameudn eubaumm
sflwren sllen&@n 2 wHOGu@EmEEELD
wHnw geautleurm sapre e sEwn
1 wHoQuargnn Bupdprd. Seuf
gy 50 cllenrési@ns@n ablenL -
weflgg 55 wi Quansear Auppmt erafle,
seawprs o welss dlarssatlen
sreirantl&ans

(1) 20 @ 15

(3) 25 (4) 28
ellfulL erpimssmas GaihblsDe-
&aLh,

abc __ abc __ bbea ¢ asabe

(1) abca @ aabe

(3) abbc (4) abec
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Direction (Q. No. 45 to 47) :

45. The following equation is incorrect due to
changes in signs. Find the correct order of
signs which make the equation correct.
5=15+9x84
1) *x,+.,= (2) +.%,+
1) R e B 4] =+

46. If "+ stands for division *+" stands for
multiplication, * % * stands for subtraction and
*—" stands for addition, which one of the
following is correct ?

(1) 18+6-7+5x2=120
(2) 18+6+7x5-2=]18
(2) 1Bx6+7+5-2=16
(4) 1B+6xT7+5-2=22

47. If 'p’ stands for *—', 'q" stands for " 47,
‘r" stands for ‘x’ and ‘s’ stands for ' +°,
then 18pdros2g3="7
(1) & (2) 8
(3 9 (4) 10

48. [f 16*9=12, 81*49=63 and 25*16=20 then
-

1 16 (2) 18
(3 20 (4) 24

49, If1+42=3 2+43=17 and 2+ 4=32, then
I+d=
(1 73 (2) 91
(3 155 (4) 145

12

sulflapenn (sllesn eredm 45 (&6 47 cuenn).

45. SHlGHse

47.

48,

49.

LT ) LT () &5 T T 0T LT &6
Slemaumd Fwanur() SeUDTS eULpmISLI-
LU (Berarg. sunemum(p FHLrS Sienown
awaslla  giviGsaidar  sflures
awitensenwg CaibllsHésayb.
5=15+9x54

O -

(3} + X, %

(2)
(4)

+ M

xiti’+

"4+ SR SUGEEW eTemaLD,  + " eTemLS
Glumpsss erarab, '’ ardtugy siflssd
Tenayld, WHDD ‘~' TEUS Sal L@
eremeylh Clemaim_me, Slenaimeuan suppeT
eTg sflwreng ?

(1) 18+6-7+5%2=20

O 18+6+7x5-2=18

(3) 18%6+7+5-2=16

(4) 1B+6x7+5-2=22

g eremugy (+°, 'r ereLg)
' wHpb ‘s earugy ‘+° erafle,
18pdrés2qd =7
(1) 6

O o

16%9 =12, B1*49=h3 L:I:lljhmd} 25*16=20
erafled, 36*9=
1 16
(3) 20

‘P oerenug ' —

8
10

(2)
{4)

@IH

(4 24

1+2=3, 243=17 whmib 2+4=32 e,
A+d=

(1) 73 {2y 91

(3 155 @ 145



Directions (Q. No. 50 to 54) :

From the given diagramatic representations answer
the questions. Triangle indicates factory workers
and circle indicates union members and square
indicates hardworkers.

50. Among the factory workers those who are
members of the union but not hardworking
are :

) & 2) I
(3) d #) b

51. Hardworking union members but not factory
workers are :

(1) d 2) f
(3) « (4) e

52. Factory workers who are neither union
members nor hard workers are :
) c (2) d
3 b 4) a

53. Among the factory workers who are
hardworking and also union members are :
(1) a (2) f
(3 «c 4) b

54. ldentify the union members who are neither

factory workers nor hard workers.

(1) I
(3) b

(2) h
4) d

[CODE [Vi | 1] 24 |
euflipeny (elleon sremn 50 (pssd 54 suemr) :

e| [ f
d
¢
Cerésuu_@earer uLgda pECeramd
Gsmfipsrena usflurerisenanybd, el Lib
Aemfpsiss e pllentsenenyb, sgMb syen
copuuraisaayd Ghsfng safid,
Geraumd ellenmésienss aflenwefldseayb.
50. Ggryipsrene uaflurerisafies Agmfn
sius epuleniaans FomES. Sgen
WPLILIMETTSET drseursar wmrr 7
B (2) f
(3) d @ b
Geminsrena ussfhumenreans Sigemons
e anpaab, Hsmflhetis e plnSantsar :

51.

@ ¢« @ f
(3) « (4) e

52. agenwors o epssts, GAsmfipshs
enuSaraarg Qemfinsrena Leaefl-
WIS &ET ©
(1) « (2) d
@ b @ -

53. Ggmfpsrena uaflwrenisefie AsmfD
Fhs epudlanisars BmEEG0D Sgan
D pUILITETTSET :
(1) a @
3 « 4) b

54. Ggmfipsreney Lesflurerrdans wHmnb

Sig.en LenpuureTraars Bamfinsts
2 pulenrseend samL B,
(1) (2) h

@h (4 d

13
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Directions (Q. No. 55 to 57) :

Among 5 friends A, B, C, D and E, A is shorter
than B, but taller than E. C is the tallest person and
D is shorter than B but taller than A,

55. Whois in the middle according to their heights
in ascending order ?
(1) E
(3) B

(2) D
(4) A

56. The person(s) taller than A but shorter than
C.
(1) B
(3 DE

B.E
B D

(2)
(4)
57. After the arrangements based on their heights
in ascending order, A and C interchange
their positions, then what is the present
position of C ?

(1) Middle

{2) Second from left

(3) Second from right

(4) Last

The various positions of a dice are shown in
the figure. If 2 is at the bottom of the dice,
then the number on the top is :

Y

(1) 4
(3 6

) 3
(4) 1

14

auflopenn (eflemm stei 55 (P60 57 euen) :
A, B,C, D mpgb E erénguid 5 peamuisafid
A greueui B -enw sl ewimb (@Gempeurereult
g enmed E -enw el eoupwreareulr. C ereureui
Basaub cwroretsul. D eremusui B - bl
£ Wrh @enpeunseayh A g el e wmorsau
LeTann,

55. pwrhisaian gmafimsiug BHeld

Emlusuf wmr ? @
D

(1) E
(3) B 4) A

56. A-g el e wporsan C -m efll sowmb
FEpeUTEaD e emaTaur(SaT)
(1) B (2) B.E
(3 DE (® B0

ewphsaiien gpeafensiuy A -wb,
C-yib shsarg BLfos wrpbls
Csrardlenpent eraflé C -6 HGLTanSIL
Flena :

(1) mHeEQ

Brlimbs Grem_mil_ib
auallmbs @ raremile b
Qopise

e usoLWa Qaatap Poosd
uLsSd smi Oud Bererar.  usen Tl
S LLESD 2 erafld, Cua ussgfa

@6 4 1

57.

(3)
(4)

38.



59.

6.

61,

62,

A is 2 years older than B who is twice as old
as C. If the total of the ages of A, B and C is
27, then how old is B ?

(1) 10
3N 8

(2)
(4) 9

In a meeting if 11 people shake hands with
each other once, then how many handshakes

will be there altogether ?
(1) 44 (2) 45
(3) 350 (4) 35

Pointing to a lady in a photograph, Santhi
said, “Her son’s father is the son-in-law of
my mother”. How is Santhi related to that
lady ?

(1) Aunt
(2) Sister
(3) Mother
(4) Niece

| am facing East. I turn 1007 in the clockwise
direction and then 145° in the anti-clockwise
direction. Which direction am [ facing
now 7

East
Morth

Morth-East
South-West

(1)
3)

(2)
(4)

59,

6.

61.

62

15
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A eretusui B - el Gren(® awg

ppdgeui. Guogub B -én auwg C ereu-

auflen auwenguGumd EmwLkisrEh.

A, B, C gdlu gpaflar enwgsefien

sa(hge 27 eraficy, B -e auwy eremean 7
10 2) 7

(3 8 (4) @

gm spHodlar Gurgy 11 Guf
@nCleummatlammeut G wenn WL {HD
os EHgusdls Cerardlarpent erafld,
Qurggw Tiszoa osEgEsdsd

HBlsqpin ?
(1) 44 (2) 45
(3) 50 @ 55

srpd  yesluLfHAmEsn am
Custrensars &rlig, “syeusficn waeflan
gheng eremguenLw grullen WS
erand spdlort. sbso Cuar srhdes
eTemen 2 May 7

(1) gang

sGamgfl

Sl

sCargrailen wsar

(3)
(4}

preén  ApsEs SHeseow GCprsd
Em&dCoen. pran susrrs Hensuld
100° Amol, Seveni 145° sg&aTrd
feansém afirgfensliia HmbydCnen.
pren ghCurg apss Heseow Cprsd
BmEfCnen ?
(1) Apég

(3) auL&®

auL &pas

(4) Ggen Gupg
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63.

67.

Ravi walked 2 km West of his house and then
turned South covering 4 km. Finally if he
moved 3 km towards East and then again
1 km West, then how far is he from his initial

position ?

10 km
2km

4 km
5km

(1)
(3)

(2}
(4)

At 12 o' clock the minute hand is pointing
East direction. At 4.30, which direction will
the hour hand point to ?

Morth-West
South=WWest

South-East
South

(2)
(4)

(1)
(3)

The angle between the hour hand and minute
hand when the Hme is 6.30 Hrs is

180*
15"

30®
‘}H

(1)
(3

(2)
(4)

Find the wrong number in the following series.
7, 28, 63, 124, 215, 342, 511

(1) 342 (2)
(3) 124 (4)

28
215

When the given words are arranged in
alphabetical order, the word which comes
second from the right is :

page, pagan, palisade, pageant, palace
(1) Pageant {2) Palisade
(3) Palace (4) Pagan

16

63,

b4,

refl eranuat e dlgbmps Cub®
Gprad 2 .8 pLsfiprr. e Gen G5DHE
fensia Smpd 4 8.8 vwefa8prr.
Bodurs 3 .86 fApsdgd whmpbd
Bear®ie 1 8.8 Copdignd pLsdpri
weflé, sHCurgy St Hrodss
BLsfdimps erauaiarey Dgrenarelled

EmEfpmT ?
(1) 10 &.8 4 8.8
(3) 24.8 (4) 548

sarriild Bl apdremmeng 12 wenllEs
flipse Bevseow Cpridl oerangy erafld
4.30 veflém sgargiflen wenfl apen
wifensaniy Curadl B)mEEL0?

(1) e Cops (2) Oz Apss
() GserCode () Osde

65. wenfl 630 & EmEELECUTS wee

warefldgnd, BuAc  gerafipEb
Genlul L Gamemrid :
(1) 180° (2) 30°

15¢ (4 o°

66. emaumb Qsmfléd seuprear eremmenentd

67.

et ey,

7. 28, 63, 124, 215, 342, 511

(1) 342 28
(3) 124 4) 215

QarHésOU_BaTeT auniSenSseneT SHET
auflensliug aflesiupifera, aag
upsSdmpy ErerLragrs amd
ﬂ.lﬂ'l'l'ﬁmﬁ. :

page, pagan, palisade, pageant, palace

& Pageant (2) Palisade

Palace (4} Pagan



68. In the expansion of (56)7, the unit digit is :

(1]
4

2} 3

(4)

1)
()

b

Direction (Q. No. 69 to 73)

69. Choose the figure which is the continuation
of the given three figures :

AO A

(4)

/ W
n |O]© ?
@uOw|@)! |@©v
(1) (2) (3 (4)
e 0|y o|= A
) Y i ?
m Y|{(C O I
¥ ivllo v A

[CODE Vil 1] 24 |

68. (56) eremgyih sramanfian Ml
SIEAOLD GENDTD Bless orelr :
b (2) 3
(3) 4 (4) 2
auflapen (shlemn setmr 69 (Pse 73 euemr) |
69. GsrBésoulL ppann UL Rsmarg
QAsriipg erCauemgu uLjoss
CaihEsBasayD :

AO| @

OO

W
-~ [O]|@]@] -
@uOw @! ||@®w
D o G @
G O o|= A
el ®o o :
© 0 (o
e vt v|lo w(lo a
™ @ O o

17
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+ s =
72, el + XM ?
o = | s
= | # =2 2= | 4
— + X+
+|x + *1= =
(1) (2} (3) (4)

s |Se|2aSFY3aL| ?

£23(|32€|[3vE||€a3

(1) (2) ) (4)

Diirection {Q. No. 74 to 77)

74. There is some relationship between the first
two figures. Find the other one from the
options having similar relationship.

O O0||C 0|, O, "
r— -'|:|_'|::| e g_ -

ol| oo|| &£ 00

2 I o J ) i o QO

(1) (2] (3) (4)

72. —:+ t: ++::-: 4
= | = - & | =
= o + £+
+ | % + = -
n o @
A |Seeleasta3ie] ?

£23]|3a¢

3vd||E

(1) (2)

(3)

53
®

auflapeny (eflewn et 74 (w60 77 auent) :

74. gpsd @Eren(d uLmsEnssn Bouudld
gCaed @ Beriiy edeg. HGs
Qermfen sgliueLild Bampasi-
ule  uLksafldimis SHHuCL

18

ganenpg Caipespbsayd.
oollewa . ol
Blarehal ol B
o|| ool &° 00
g ||loe el
m @ ® @




(1) (2) (3 (4)

o |00 AR -
VVA|[A4V| A AV| B3V

{1) ; E :;

o] Jo o E'/ o

77. - £ u_': . 7
RS
A

(1) (2) (E)) (4)

Direction (Q. No. 78 to 80)

78.  Choose the part which completes the given
figure :

=

74

|CODE [vii| 1 [ 24 |

=1
&l |Ba)
" ®
\AL
&é‘?

%

£
NS
o

()

75.

EA| B

(1)

e
[
e

76. ?

it

S
[>o

AA

o]

H

(4)

5| =)

[ o |

#

(1)

(2)

sublwenn (eflenn stemn 78 (&0 80 sueny) :
78. QerBasuu’fearer ugeaen (P(END
wrEEd ugHlioai CaitOshesan:

4 U

(1) Ll (3 (4)

19
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79.
N XN

X A
m @ & @

o (&7

2T
N [N
ol (2 B T -
® @ ® @

Direction (Q. No. 81 and 82)

§1. Select the mirror image for the following :

AR

-

(1) (2}

52 %

(3)

(4)

(1) (2)

(3

()

20

% N K &
(2) (3 )

A
8 E‘?‘ :
0. E’I"\,«""‘E
N [
vl S -
1) @ (3) (4)

suflpeny (ellenn ereter 81 wHEID 82) :
81. Gemcumevancuiifien samermmg. (ShbLGeNGS
CaihEsHaEsan ;

e

(1) (2)

52 %

@ 4)

(1) &) (4)



Direction (Q. No. 83 and B4)

83. Find the water image of the given figure,
(1) (2) (3) (4)
X N
“- Q
@ || ® S ~
X O XX N||x @
(1) (2) (3) (4)

Direction (Q. No. 85 to 89) :

85. Find the odd one out :

OOOO

(1) 2) (3) (4)

H@]e

[\

B,

B6.

[CODE]VIII] 1 [ 24 |
suiflwen (eflemn eredr 83 whpyib 84) :

83. QamBésuuie uLjfer seamadi
Bbugemss CeittsHesau :

(1) @ 3)
XN

- () & &
X A0 x|Ix X A

(1) (2) (3)

@

auflupenp (eflem sTegeT 85 (LpEed B9 suemy) :
85. Qummisrs @earens CotbOsDésab :

OO0

(1) (2) (4)
(i)

(1) (2) (3) (4)

21
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87.

88.

89.

90.

)

I1) || =
(2) (3)

M

(1)

=

P =

0

(1) (2) (* (4)

®|®|®|®

)

87.

{1) (2) (3) (%)

Among the four complex figures, the given
figure (X} is embedded in one of them. Choose

the correct figure :

ey

(X)

B

(1) (2) (3) (4)

-p)o-

_

Qi

@

1)

(1) (2) (3)

—

) &

©

89,

*

90.

®|

\V; A
2 o
o
(1) (2) (3
'H:; (2) (3)
QarfGésuul@erer uLbrag (%)
Wemeumb Hrengg Slesanen uLriseaild

glagb gm aumsldld g L d
ussuul Betang. eosh Gais.

P

(%)

s

{1) (3) ()

~-o0o-
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